Munitions India Limited
A Government Of India Enterprise
Ministry Of Defence
Pune, Maharashtra

Gl

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s delta wallace technologies pvt. Itd, 388, Ecotech -3, UDYOG KENDRA-I, GREATER NOIDA (U.P.) PIN :
201310 388, ECOTECH-IIl, UDYOG KENDRA-I, GREATER NOIDA (U.P.) PIN : 201310 Greater Noida Uttar Pradesh is registered at
Munitions India Limited for following Items.

Sl. Factory / Unit Item Nomenclature Initial Date of

Registration

1 Ordnance Factory Muradnagar MACHINED TA WASHER 09-06-2015

2 Ordnance Factory Dehradun BASE TO DRG. NO.MCT-2877/1 FOR 05-08-2016
MT.TELESCOPE 102A.

3 BEARING SLEEVE SPECIAL BOTTOM DRG. 05-08-2016
NO.CQA(I)-796/5.

4 BRACKET DRG. NO.CQA(I)-796/1. 05-08-2016

5 CLICK RING TO DRG. NO.CQA(l)-793/34 FOR 05-08-2016
TELE. 84MM C/G MK-III.

6 LEVEL FIRE CONTROL INSTT. AS PER DRG. 05-08-2016
MCT-2906 & MCT-2905 COMPRISING OF- 1.CAP
MCT-1184/1
7 2.PLATE MCT-1185/1 05-08-2016
8 3.LEVEL MCT-757/1 05-08-2016
9 4. TRIBRACH MCT-758/1 05-08-2016
10 5.SCREW MCT-1186/1 05-08-2016
11 6.ADAPTER MCT-1165/1 05-08-2016
12 7.NUT MCT-1187/1 05-08-2016
13 8.SCREW SHOULDER MCT-900/1. 05-08-2016
14 MACHINING OF BOX AS PER DRG. 05-08-2016
NO.MCT-2469/2 CASTING WILL BE SUPPLIED BY
OFD.

Page 1/10



15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

MOUNTING BOLT DRG. NO.CQA(I)-792/35 FOR 05-08-2016
TELESCOPIC SIGHT MK-III.

ADAPTOR AS PER DRG. NO. CWC-229/41 30-05-2017
ASSY. OF EYE PIECE LEFT AS PER DRG.NO. 30-05-2017
MCT-3286

ASSY. OF EYE PIECE RIGHT AS PER DRG.NO. 30-05-2017
MCT-3285

BASE 30-05-2017
PLATE AS PER DRG.NO.:IRDE-335/19 30-05-2017
BODY AS PER DRG.NO. IRDE-335/1. 30-05-2017
BOLT SPECIAL MCT-1111/1 FOR SIGHT UNIT 30-05-2017
CASED 102B

BUSH FOR DIRECTOR FIRE CONTROL NO.7. 30-05-2017
DRG.NO.MCT-2446

BUSHINGSLEEVE 30-05-2017
0.D.18MM AS PER DRG. NO. IRDE-335/81 30-05-2017
CATCH 30-05-2017
RANGE DRUM AS PER DRG. NO. CQA(1)-792/1 30-05-2017
CELL AS PER DRG. NO.:IRDE-335/4 30-05-2017
CELL OPTICAL ELEMENT DRG.NO.MCT-2943/2 30-05-2017
FOR HR BINO

CELL TO DRG.NO. 30-05-2017
MCT-3237 FOR D-7 30-05-2017
CELL TO DRG.NO. 30-05-2017
MCT-3237 FOR D-7. 30-05-2017
COVER 30-05-2017
DIAL CONTROL 30-05-2017
FIXED AS PER DRG.NO.IRDE-1175/41 30-05-2017
DIAL SCALE AS PER DRG.NO.:IRDE-335/82 30-05-2017
ELEVATION CURVE -557 TO DRG NO CQA(1)-792/7 | 30-05-2017
FLY NUT AS PER DRG.NO CII-399/27 FOR CHEST | 30-05-2017

SPARE PARTS

Page 2/10




40

41

HEAD MCT-2445

30-05-2017

42

HEAD MCT-2445.

30-05-2017

43

HOUSING

30-05-2017

44

OBJECTIVE TO DRG NO. CQA(I)-793/44 1/SET
FOR MK-III

30-05-2017

45

LEVER PICATINY DRG.NO.CWC/236/10

30-05-2017

46

LOCK PICATINNY DRG.NO.CWC/236/9.

30-05-2017

47

LOCK SCREW AS PER DRG.NO. CQA(1)-793/28
FOR TELE. SIGHT MK-III

30-05-2017

48

MACHINING OF BRACKET TO DRG.NO. MCT-2435
TO 2438 CASTING WI

30-05-2017

49

KNOB ASSY 551 441 TO MCT 2316 1 Description :
KNOB ASSY 551 441 TO MCT 2316 1 [ENR
Registration]

19-06-2019

50

KNOB ASSY 651 441 TO MCT 2317 1 Description :
KNOB ASSY 651 441 TO MCT 2317 1 [ENR
Registration]

19-06-2019

51

SLIDE TO DRG NO CQA | 792 34 Description :
SLIDE TO DRG NO CQA | 792 34 [ENR Registration]

19-06-2019

52

HOUSING ASSLY MCT-2288 COMPRISING OF
MCT-2397/1, MCT-2396, MCT-2290. Description :
HOUSING ASSLY MCT-2288 COMPRISING OF
MCT-2397/1, MCT-2396, MCT-2290. [ENR
Registration]

19-06-2019

53

OBJECTIVE ASSY CONSISTING OF 3
COMPONENT Description : OBJECTIVE ASSY
CONSISTING OF 3 COMPONENT [ENR
Registration]

19-06-2019

54

RETICAL IN SOCKET CONSIST OF 2 COMPONENT
1 RETICAL SLEEVE MCT 2507 2 RETICAL SCREW
RING MCT 2510 FOR MK III Description : RETICAL
IN SOCKET CONSIST OF 2 COMPONENT 1
RETICAL SLEEVE MCT 2507 2 RETICAL SCREW
RING MCT 2510 FOR MK Il [ENR Registration]

19-06-2019

55

ADJUSTING DRUM TOCQA | 793 35 Description :
ADJUSTING DRUM TOCQA | 793 35 [ENR
Registration]

19-06-2019

ACHROMATE ASSY Description : ACHROMATE
ASSY [ENR Registration]

19-06-2019

Page 3/10




56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

71

72

73

74

75

76

KNOB 751 441 ASSY MCT 3478 Description : KNOB | 19-06-2019
751 441 ASSY MCT 3478 [ENR Regjistration]

MACHINING OF BOX AS PER DRG. 04-05-2020
NO.MCT-2469/2 CASTING WILL BE SUPPLIED BY

OFD.[74]

MOUNTING BOLT DRG. NO.CQA(l)-792/35 FOR 04-05-2020
TELESCOPIC SIGHT MK-IIL.[74]

MACHINING OF BASE AS PER DRG NO MCT 3471 | 17-08-2019
FOR MOUNT TELE 102A[74]

MACHINING OF BEARING BOTTOM TO DRG NO | 17-08-2019
MCT 2900 1 MCT 2903 MCT 2904 FOR MOUNT

TELESCOPE 102A[74]

MACHINING OF BODY RIGHT BINO 8X30 MCT 17-08-2019
1252 2 NOTE CASTING LF 0020000691 WILL BE

SUPPLIED BY OFD[74]

MACHINING OF BRACKET AS PER DRG NO MCT | 17-08-2019
3470 FOR MOUNT TELESCOPE 102A[74]

MACHINING OF CASING UPPER[74] 17-08-2019
MACHINING OF FRAME BODY AS PER DRG MCT | 17-08-2019
2287 2 OF QUADRANT FIRE CONTROL[74]

MACHINING OF HOLDER UPPER PRISM[74] 17-08-2019
MACHINING OF HOUSING LOWER[74] 17-08-2019
MACHINING OF HOUSING LOWER PRISM[74] 17-08-2019
MACHINING OF HOUSING WINDOW GLASS[74] 17-08-2019
BRACKET DRG. NO.CQA(I)-796/1.[74] 04-05-2020
MACH OF BODY TO DRG MCT 2470 1[00] 17-08-2019
HOUSING MECHANICAL DRIVE INVESTMENT 17-08-2019
CASTING DRG NO ODD C 732 1[00]

RING WITH DIVISIONS AS PER DRG NO MCT 17-08-2019
3268A FOR CLINOMETER 2A 46[74]

PLATE RETAINING BEARING[00] 17-08-2019
MACHINING OF LEVER TO DRG NO MCT 2462 17-08-2019
CASTING[74]

MACHINING OF LEVER TO DRG NO MCT 2463[74] | 17-08-2019
MACHINING OF BEARING MOUNTED MCT 24651 | 17-08-2019

CASTING[74]

Page 4/10




1

78

79

80

81

82

83

84

85

86

87

88

89

90

91

92

93

94

95

96

97

MACHINING OF SLIDE TO DRG NO OS 24466 MCT | 17-08-2019
2448 CASTING[74]

COVER BODY FOR DIRECTOR FIRE CONTROL 17-08-2019
NO7 DRG NO MCT 2460[74]

HOUSING BEARING UNIT IRDE 68 3[74] 17-08-2019
MACHINING OF CASTING TO DRG NO CWC 240 17-08-2019
56 FOR HOUSINGJ[74]

HOUSING FOR Il TUBE AS PER DRG NO CWC 229 | 17-08-2019
19 5 FOR PNS RIFLE LMG CGRL[74]

HOUSING EP FINISHED TO DRG NO MCT 1515 17-08-2019
1[74]

KNOB ASSY[74] 17-08-2019
knob assembly 502[74] 17-08-2019
knob assembly 751[74] 17-08-2019
KNOB ASSY TO MCT 2317 1[74] 17-08-2019
Needle Valve Carburator MCT 3215[74] 17-08-2019
SOCKET AS PER DRG NO MCT 3189[74] 17-08-2019
STOP ARMATURE TO DRG NO MCT 3126[74] 17-08-2019
BUSHING MACHINE THREAD TO DRG MCT 31131 | 17-08-2019
FOR SUC 102B[74]

WASHER TO DRG MCT 3114 1 FOR SUC 102B[74] 17-08-2019
CELL GRATICULE TO DRG MCT 1143 1 FOR 17-08-2019
SIGHT UNIT CASED 102B[74]

PLATE BEARING TO DRG NO MCT 1118 2 FOR 17-08-2019
SIGHT UNIT CASED 102B[74]

KNOB TO DRG MCT 1150 2 FOR SIGHT UNIT 17-08-2019
CASED 102B[74]

KNOB TO DRG NO MCT 2710 FOR INDICATOR 17-08-2019
FUZE 105 37[74]

KNOB TO DRG NO MCT 3245 FOR SIGHT DIAL 17-08-2019
104A[74]

RAIL ASSY CONSISTS OF REAR AND FRONT 17-08-2019

BRACKET TO DRG NO MCT 2313 2314 AND
2315[74]

Page 5/10




98

99

100

101

102

103

104

105

106

107

108

109

110

111

112

113

114

115

116

117

118

HOUSING ASSLY MCT2288 COMPRISING OF 17-08-2019
MCT2397 1 MCT 2396 MCT 2290[74]

BEARING DRUM TO DRG NO MCT 2901[74] 17-08-2019
BRACKET AS PER DRG NO MCT 3282[74] 17-08-2019
HOUSING EP COMPRISING OF FOLLOWINGS 17-08-2019
HOUSING EP IRDE 1274 8 AND KNOB IRDE 1274

o[74]

PLATE REAR SMALL AS PER DRG NO IRDE 335 17-08-2019
22[74]

CONTAINER AS PER DRG NO IRDE 335 68[74] 17-08-2019
BUSHING SLEEVE AS PER DRG NO IRDE 335 17-08-2019
76[74]

LEVER DRG NO ClI 125[74] 17-08-2019
RING RETAINING TO DRG. NO. MCT-2939/2 FOR | 17-08-2019
HR BINO 8X30R[74]

RING RETANING FOR HRBINO 8 30R[74] 17-08-2019
RING RETAINING TO FOR HR BINO 8 30 R[74] 17-08-2019
RING RETAINING TO DRG NO MCT 2946 2 FOR 17-08-2019
HR BINO 8X30 R[74]

CELL OPTICAL ELEMENT DRG NO MCT 2942 2 17-08-2019
FOR BINOCULAR 8X30 R[74]

RING RETANING TO DRG NO MCT 2921 2 FOR HR | 17-08-2019
BINO 8X30R[74]

WOOD SCREW BRASS SLOTTED CSK HD NO 17-08-2019
5X15MM IS 6760[17]

DIAL CONTROL FIXED TO DRG NO MCT 3242 FOR | 17-08-2019
SIGHT DIAL 104A[74]

ADAPTER BLANK MCT 2878 FOR INDICATER 17-08-2019
FUZE 105 37 FD[74]

SCREW SPECIAL ADJUSTING WITH BUSH TO 17-08-2019
DRG NO MCT 2871 1[74]

CLAMP FINISH TO DRG NO MCT 2103[74] 17-08-2019
MACHINING OF HOUSING Il TUBE AS PER DRG 17-08-2019
NO CWC 229 19 5 CASTING WILL BE SUPPLIED

BY OFD[74]

CAP TO DRG NO MCT 2433 FOR D7[74] 17-08-2019

Page 6/10




119

120

121

122

123

124

125

126

127

128

129

130

131

132

133

134

135

136

137

138

139

140

141

CLICK RING TO DRG. NO.CQA(I)-793/34 FOR 04-05-2020
TELE. 84MM C/G MK-II1.[74]

ADAPTER TO DRG NO MCT 2875[74] 04-05-2020
ADJUSTING DRUM TO DRG NO CQA | 793 35 FOR | 04-05-2020
TELE SIGHT MK 11[74]

ASSY OF SCREW SPECIAL ADJUSTING WITH 04-05-2020
BUSH TO DRG NO MCT 2650 3[74]

BEARING AS PER DRG NO MCT 3281 FOR 04-05-2020
COLLIMETER INFINITY 102 A[74]

BEARING DRG NO OS 13617[74] 04-05-2020
BEARING TO DRG MCT 1123 1 FOR SIGHT UNIT | 04-05-2020
CASED 102B[74]

BINOCULAR SCREW DRG NO MCT 2936 2 FOR 04-05-2020
HR BINO 8X30R[74]

BLOCK DRG NO MCT 2485[74] 04-05-2020
BLOCK LOCKING AS PER DRG NO MCT 3271 1 04-05-2020
FOR SIGHT DIAL 104A[74]

BLOCK TO DRG NO MCT 2439 1[74] 04-05-2020
BLOCK TO DRG NO MCT 3091 FOR MT 04-05-2020
TELESCOPE 102A[74]

BODY TO DRG NO MCT 3085[00] 04-05-2020
BRACKET DRG NO IRDE 2048 1 MCT 3150[74] 17-08-2019
BRASS WOOD SCREW SLOTTED CSK HEAD SIZE | 04-05-2020
NO 2 X 10 MM LONG TO IS 6760[17]

BUSH TO DRG OS 13616 MCT 2834[74] 04-05-2020
BUSHING BLANK MCT 1113 2[74] 04-05-2020
CSK HD M C SCREW 2X3MM LONG 1365 BRASS | 04-05-2020
FOR DISC AZIMUTH ASSY FOR GNVP[17]

CASE TO DRG NO MCT 2428 1[74] 04-05-2020
CASE VIAL LEVEL AS PER DRG NO MCT 3284[74] | 04-05-2020
CELL OG FOR TELESCOPE SIGHTING[74] 04-05-2020
CELL AS PER DRG NO MCT 3279[74] 04-05-2020
CELL OPTICAL ELEMENT AS PER DRG NO MCT | 04-05-2020

3269 1 FOR SIGHT DIAL 104A[74]

Page 7/10




142

143

144

145

146

147

148

149

150

151

152

153

154

155

156

157

158

159

160

CELL OPTICAL ELEMENT TO DRG NO MCT 2941 2 | 04-05-2020
FOR HR BINO 8X30[74]

CELL OUTER DRG NO IRDE 2048 129[74] 04-05-2020
CH HD SCREW BM 4X10 LONG M S FOR TNPO 04-05-2020
168B[17]

CSK HD MC SCREW M3X5 LONG BRASS FOR 04-05-2020
FOR S U C 102B[17]

DIAL SCALE TELESCOPE 102A[74] 04-05-2020
DOVETAIL COMPLETE TO DRG NO MCT 2230 3 04-05-2020
FOR DAY SIGHT RIFLE[74]

EYE PIECE LOCK RING TO DRG MCT 2506 1 FOR | 04-05-2020
TELE SIGHT MK I11[74]

EYE PIECE WITHOUT EYE PIECE Il CONSISTING | 04-05-2020
OF 2 COMPONENTS[74]

HOUSING OG FINISHED TO DRG NO MCT 1514 04-05-2020
1[74]

KNOB TO DRG NO MCT 3096 FOR MT TLESCOPE | 04-05-2020
102A[74]

MOUNTING PLATE ASSY DRG NO MCT 2289 04-05-2020
COMPRISING OF MCT 2393 1 MCT 2394 MCT 2395

1 AND MCT 2392 2[74]

RING RETAINING OPTICAL ELEMENT TO DRG NO | 04-05-2020
IRDE 2603 17[74]

RING RETAINING OPTICAL ELEMENT TO DRG NO | 04-05-2020
IRDE 2605 18[74]

RING RETAINING OPTICAL ELEMENT TO DRG NO | 04-05-2020
IRDE 2603 32[74]

RING RETAINING OPTICAL ELEMENT TO DRG NO | 04-05-2020
IRDE 2603 14[74]

RING RETAINING OPTICAL ELEMENT TO DRG NO | 04-05-2020
IRDE 2605 43[74]

RING RETAINING TO DRG NO MCT 3238 1 FOR 04-05-2020
SIGHT DIAL 104A[74]

RING RETAINING TO DRG NO ODD M 2742 FOR D | 04-05-2020
7[74]

RING DRG NO MCT 2430[74] 04-05-2020

Page 8/10




161

162

163

164

165

166

167

168

169

170

171

172

173

174

175

176

177

178

179

180

RING RETANING AS PER DRG NO MCT 2960 1 04-05-2020
FOR HR BINO 8X30R[74]

SCALE FIXED WITHOUT ENGRAVING AS PER 04-05-2020
DRG NO MCT 3266 1 FOR SIGHT UNIT CASED

102B[74]

SCREW DIAL SCALE M3 X 5 MM DIN 88 FOR 04-05-2020
TELESCOPE SIGHT 84 MM RCL GUN[17]

SCREW AU 8 900 044[17] 04-05-2020
SCREW BA BRASS CSK HD NO 8X02 FOR S U 04-05-2020
Cl17]

SCREW BA BRASS RD HEAD NO 8 X 2MM 04-05-2020
LONG[17]

SCREW CH HD C STEEL M4X20 STEEL FOR 04-05-2020
SIGHT UNIT CASED 102B[17]

WASHER TO DRG NO IRDE 2048 87[74] 04-05-2020
WASHER TO DRG NO MCT 1315[00] 04-05-2020
WASHER MCT 1333 1[74] 04-05-2020
BRASS ROD 15 MM DIA BS 2874 1969 CZ 122 04-05-2020
M[07]

EYE GUARD ASSY TO DRG NO MCT 1325 1[00] 04-05-2020
HOUSING FOR POINTER DIAL CONTROL MCT 04-05-2020
3132 FOR SIGHT DIAL 104A[74]

HOLDER DRG IRDE 1175 45 SHT 2 FOR SIGHT 04-05-2020
DIAL 104A[74]

HOLDER OPTICAL ELEMENT AS PER DRG NO 04-05-2020
IRDE 335 14[74]

PLUNGER DRG OS 13570 MCT 2832[74] 04-05-2020
PRISM HOUSING TO DRG NO MCT 1931[00] 04-05-2020
RING RETTIANING OPTICAL ELEMENT TO DRG 04-05-2020
IRDE 2001 7 MCT 1474 FOR BNVP 101A[74]

SCREW GRUB BRASS BA FLAT END FOR 04-05-2020
SUC102B FINISH CAD PLATING[17]

SCREW GRUB SLOTTED CONICAL END STEEL 04-05-2020

M2 X4 MM LONG[17]

Page 9/10




181 SCREW CHEESE HEAD SIZE M2X4 MM STEEL 04-05-2020
WITH OIL BLACKENED AND QUENCHED

COATING[17]
182 RING SECURING AS PER DRG NO IRDE 335 75[74] | 04-05-2020
183 ARC BEARING NO 3 MK 1 M | AS PER DRG NO CIl | 04-05-2020

253 COMPRISING WITH CII 253 1 CII 253 2[74]

184 ARM RANGE NO 3 MK1 M1 AS PER DRG NO ClI 05-05-2020
267 2 SHEETS CII 247 SHEET 3[74]

185 ARM RANGE NO 5 MK 1 M | AS PER DRG NO Cll | 05-05-2020
247 3 SHEETS[74]

Registration No. : MRTD00461G
Initial Date of Registration : 09-06-2015
Downloaded at : 08/07/2024 08:18 am

Conditions of Registration:

This Registration has been carried out based on self-declared documents furnished by Vendor.
Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the
Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

This is a system generated certificate. Hence no separate signature is required.

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

Page 10/10


http://www.tcpdf.org

